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QUESTION 1

Click the Exhibit button. Which is an abstract class? 

A. Mouse 

B. Cat 

C. Dog 

D. Rabbit 

Correct Answer: A 

 

QUESTION 2

Given: 

3.

 int num = 0, count; 

4.

 while ( num 

5.

 num++; 

6.

 // insert code here 

7.

 System.out.println("num = " + num + " : count = " + count); 

8.

 } 

9.

Latest 1Z0-850 Dumps | 1Z0-850 VCE Dumps | 1Z0-850 Exam Questions                                2 / 5

https://www.lead4pass.com/1Z0-850.html
https://www.lead4pass.com/1Z0-850.html
https://www.lead4pass.com/1Z0-850.html


https://www.lead4pass.com/1Z0-850.html
2021 Latest lead4pass 1Z0-850 PDF and VCE dumps Download

 } 

Which, inserted at line 6, produces the following output? 

num = 1 : count = 1 num = 1 : count = 2 num = 2 : count = 1 num = 2 : count = 2 num = 3 : count = 1 num = 3 : count =
2 

A. while ( ++count 

B. for ( count = 1 ; count 

C. for ( count = 0 ; count 

D. while ( ++count 

E. for ( count = 1 ; count 

Correct Answer: B 

 

QUESTION 3

Which two describe benefits of encapsulation? (Choose two.) 

A. Code is more useful because attributes of the class can be accessed by other classes for both reading and writing. 

B. Code is more efficient because attributes of the class can be accessed directly by other classes, without the
overhead of going throughaccess methods. 

C. Code is more reusable because the attributes of the class are protected from direct modification by other code. 

D. Code is more flexible because the attributes can be modified directly from code in other packages. 

E. Code is safer because attributes of the class CANNOT be directly modified by code outside the class. 

Correct Answer: CE 

 

QUESTION 4

Given: 

17. class B { } 

Which demonstrates inheritance? 

A. class A this B { } 

B. class A extends B { } 

C. class A super B { } 

D. class A implements B { } 
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Correct Answer: B 

 

QUESTION 5

Which is a valid definition of an interface called Transportable given another valid interface, Movable? 

A. class Movable implements Transportable { /*...*/ } 

B. interface Transportable extends Movable { /*...*/ } 

C. class Movable extends Transportable { /*...*/ } 

D. interface Transportable implements Movable { /*...*/ } 

Correct Answer: B 
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